

Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Remit to: PO Box 679827 Dallas, TX, 75267 USA ACH/Wire instructions available upon request

Job #: 29766

VIN: 4P1BCAFF7HA017103

Customer info: Laredo, City of P.O. Box 210 Attn: Accounts Payab Laredo, TX, 78042 Document info: Work order #: 307-WO0000028465

Service advisor: Kris West (A0CW)

Unit info:

In / Out Hours: 3600/0

Unit: Miles: 26665/0

USA

Line # Description:

1 <u>Condition:</u> TOWING / REINSTALL AXLES FROM TOWN

Cause:

Correction: REINSTALLED AXLE AND TORQUED BOLTS TO SPEC.

 Part description:
 Part #:
 Qty:
 Item price:
 Total price:

 AXLE GASKET
 2208E1123
 2.00
 \$6.00
 \$11.99

 SUBLET
 1.00
 \$2678.00
 \$2678.00

Labor total: \$613.50 Parts total: \$11.99 Sublet total: \$2,678.00 Freight total: \$0.00 Line total: \$3,303.49

Line # Description:

2 <u>Condition:</u> RAISE AERIAL/CAB

Cause:

<u>Correction:</u> REMOVED TRUCK CONNECTION FROM AERIAL DEVICE. USED EXTERNAL BATTERIES TO POWER AERIAL DEVICE AND

MANUAL OVER RIDES TO RAISE AERIAL. RAISED CAB AND SET BRACE. -

Part description: Part #: Qty: Item price: Total price:

Labor total: \$818.00 Parts total: \$0.00 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$818.00

Line # Description:

3 **Condition:** DIAG AND ESTIMATE FIRE REPAIR

Cause:

Correction: DISASSEMBLED FIRE DAMAGED AREAS AND INSPECTED. REPORTED FINDINGS TO OFFICE.

Part description: Part #: Qty: Item price: Total price:

Labor total: \$1,443.78 Parts total: \$0.00 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$1,443.78



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO0000028465

Line # Description:

4 Condition: WASH OFFICER SIDE OF UNIT

Cause:

Correction: WASHED UNIT

Part description: Part #: Qty: Item price: Total price:

Labor total: \$409.00 Parts total: \$0.00 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$409.00

Line # Description:

5 <u>Condition:</u> REPLACE TRANSMISSION HARNESS (EXTERNAL)

Cause:

Correction: REPLACED DAMAGED EXTERNAL HARNESS AND TESTED. TRANSMISSION HAS CODES FOR INTERNAL HARNESS AND

COMPONENT ISSUES. WILL NEED TO REPLACE INTERNAL PARTS.

Part description:Part #:Qty:Item price:Total price:FREIGHT1.00\$19.97\$19.97WIRE HARN,CHASSIS,MD,HD IVZ,GEN 564-4895-H0051.00\$335.00\$335.00

Labor total: \$613.52 Parts total: \$335.00 Sublet total: \$0.00 Freight total: \$19.97 Line total: \$968.49



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO0000028465

Line #

Description:

6

Condition: TRANSMISSION INTERNAL HARNESS AND COMPONENT ISSUE.

Cause: REMOVED TRANSMISSION FLUID LET SET OVER WEEKEND. REMOVED TRANSMISSION MODULE. PUT MODULES BACK UP. FOUND OUT I HAVE TO REMOVE TAK 4 CROSS MEMBER. REMOVED CROSS MEMBER. REMOVED MODULE. FOR JACK TO REPLACE INTERNAL COMPONENTS. CLEANING AND DISASSEMBLED MODULE. CLEANED ALL PARTS MISSING ONE SOLENOID.

Correction: INSTALLED ALL NEW SOLENOIDS SENSORS FILTER SCREEN FLUID LEVEL AND ELECTRICAL HARNESS. CLEANED TRANSMISSION FILTE HOUSING. GOT NEW FLTERS. INSTALLED TRANSMISSION MODULE CHECKED COMMUNICATION WITH TROUBLE SHOOTING COMPUTER. FILLED SYSTEM WITH ATF, INSTALLED TAK 4 CROSS MEMBER AND TORUED BOLTS. RAN TRUCK TO TEST TRANSMISSION ALL FUNCTIONS WORKING NORMALLY.

Part description: SOLENOID-IN BORE, CLOSED END	Part #: 29545638	Qty: 1.00	Item price: \$189.39	Total price: \$189.39
OIL LEVEL SENSOR SWITCH ASSEMBLY-PRESSURE SOLENOID-IN BORE, NORM LOW, CL	29549755	1.00	\$643.10	\$643.10
	29549658	1.00	\$107.99	\$107.99
	29544297	4.00	\$140.70	\$562.80
DEXRON III /MER BULK, QUART, ATF	CHVDMB	24.00	\$6.22	\$149.28
SOLENOID-IN BORE, NORM HIGH, C	29541897	2.00	\$130.75	\$261.50
GASKET-FILTER	29537066	1.00	\$5.81	\$5.81
KIT, TRANS ALLISON FILTER, SUMP,4 INCH	29558329	1.00	\$140.55	\$140.55
ELEC TAPE LX3/4 IN W 13 MIL BLACK	4YT85	3.00	\$21.19	\$63.56
HARNESS ASSEMBLY-WIRING	29549577	1.00	\$473.03	\$473.03
KIT-FILTER ASM, SUCTION IT-SEAL & GASKET, 3000 CONTROL SENSOR-SPEED, 90 DEG, BASE	29558331	1.00	\$134.44	\$134.44
	29559768	1.00	\$148.24	\$148.24
	29543433	1.00	\$270.34	\$270.34
SWITCH ASSEMBLY-PRESSURE FREIGHT	29552364 FREIGHT	1.00 1.00 1.00	\$140.55 \$36.40	\$140.55 \$36.40

Labor total: \$2,454.02 Parts total: \$3,290.58 Sublet total: \$0.00 Freight total: \$36.40 Line total: \$5,781.00

Line # Description:

Condition: REPLACE GENERATOR PTO/HYDRAULIC PUMP 7

> Cause: **Correction:**

Part description:	Part #:	Qty:	Item price:	Total price:
FREIGHT	FREIGHT	1.00	\$172.69	\$172.69
HYDRAULIC AW68 PER QT	CHVAW68D	20.00	\$4.85	\$97.00
HYD. HOSE ASSY	HA-4MEGATECH-4FJX-4F	1.00	\$103.55	\$103.55
PUMP,HYD,HG,6-10KW MAS STD DQ 45 CC,B-SPLINED S	1817966	1.00	\$3593.58	\$3593.58
PTO#280GMFJP-B5RK,INDEX B FLG 3000EVSP:1	2785745	1.00	\$2174.86	\$2174.86
FREIGHT	FREIGHT	1.00	\$84.10	\$84.10
CUSTOM HOSE ASSY	CUSTOM HOSE ASSY	1.00	\$1363.85	\$1363.85

Labor total: \$1,227.01 Sublet total: \$1,363.85 Line total: \$8,816.64 Parts total: \$5,968.99 Freight total: \$256.79



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO000028465

Line # Description:

8 **Condition:** REPLACE OFFICER CAB LIFT HYDRAULIC LINES.

Cause:

Correction: REMOVED DAMAGED HYDRAULIC LINES AND INSTALLED NEW LINES. TESTED SYSTEM AND TOPPED OFF FLUIDS.

Part description: Part #: Qty: Item price: Total price: **SUBLET SUBLET** 1.00 \$107.99 \$107.99 **FREIGHT FREIGHT** 1.00 \$19.50 \$19.50 DEXRON III /MER BULK, QUART, ATF **CHVDMB** 4.00 \$24.89 \$6.22

Labor total: \$306.76 Parts total: \$24.89 Sublet total: \$107.99 Freight total: \$19.50 Line total: \$459.14

Line # Description:

9 <u>Condition:</u> REMOVE AND REPLACE EXHAUST BLACKETS.

Cause:

<u>Correction:</u> STARTED TO INSTALL EXHAUST AND EXHAUST BLANKETS MODIFIED HEAT SHIELD TO FIT FOR NEW RUN OF POWER AND

GROUND WIRES. INSTALLED LAST EXHAUST BLANKET

Part description: Part #: Qty: Item price: Total price: **FREIGHT FREIGHT** \$83.28 \$83.28 1.00 CLAMP, MUFFLER, 4.00" MC 400 80-6008 \$13.07 \$13.07 1.00 INSULATION BLANKET, EXHAUST 2070993 1.00 \$362.61 \$362.61 INSULATION BLANKET, EXHAUST 4.0 IN. 18 IN. LONG 2331350-1800 1.00 \$186.25 \$186.25 INSULATION BLANKET, EXHAUST DS, 31. 2010 PUC 2070995 1.00 \$178.94 \$178.94 INSULATION BLANKET, EXHAUST IVZ, ISL, 2013, LOWER 2426008 1.00 \$441.97 \$441.97

Labor total: \$409.00 Parts total: \$1,182.84 Sublet total: \$0.00 Freight total: \$83.28 Line total: \$1,675.12

Line # Description:

10 <u>Condition:</u> REPLACE PUMP COOLER HOSES

Cause:

Correction: DRAINED COOLANT STARTED TO REMOVE COOLER LINES LOOKS TO BE 4 LINES -REMOVED COOLER LINES MADE NEW LINES

AND INSTALLED

Part description: Part #: Qty: Item price: Total price: CLAMP,CT 0.82-1.50 80-8020-020 4.00 \$17.94 \$71.76 **FREIGHT FREIGHT** 1.00 \$16.84 \$16.84 HOSE, HEATER, 1.00 SI 940375 300.00 \$1.77 \$531.00 CLAMP,CT 0.82-1.50 80-8020-020 4.00 \$17.94 \$71.74

 Labor total: \$1,636.01
 Parts total: \$674.50
 Sublet total: \$0.00
 Freight total: \$16.84
 Line total: \$2,327.35



Siddons-Martin Emergency Group 5511 Binz Engleman Rd San Antonio, TX, 78219 USA Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO0000028465

Line #

11

Description:

<u>Condition:</u> REPAIR DAMAGED POWER/GROUND WIRING GOING TO BATTERIES RE WRAPPED ELECTRICAL WIRES ON OFFICER SIDE ADDED WIRE LOOM FOR PROTECTION PULLED ALL BURNT WIRES OUT .CLEANED INSIDE RAILS RAN NEW TRANSMISSION HARNESS TO TRANSMISSION

Cause:

Correction: RUN NEW POWER AND GROUND WIRES PINNING OUT WIRES COVERED NEW POWER AND GROUND CABLES RAN CABLES IN FRAME SECURED POWER AND GROUND IN FRAME RAIL STARTED TO INSTALL PROTECTION SLEEVES ON POWER AND GROUNDS THAT GOT MELTED RAN ABS HARNESS AND CONNECTED TERMINATE BATTERY LEADS ON OFFICER SIDE START BUILDING BUSS BAR FINISHED CONNECTING POWER AND GROUND CHARGED BATTERIES -

Part description:	Part #:	Qty:	Item price:	Total price:
LUG STARTER/GROUND TIN PLATED 3/8 STUD ELBOW	25KD58	3.00	\$19.40	\$58.20
SLEEVING 1.5 IN 50FT L SILVER	2RMR4	6.00	\$7.52	\$45.12
2 GAUGE RED FLEX BATTERY CABLE	BCIW-R	25.00	\$7.78	\$194.58
2 GAUGE FLEX BATT CABLE	BCIW	25.00	\$7.78	\$194.58
3/8" STUD JUNCTION BLOCK RED	JB1-375R	2.00	\$20.02	\$40.04
1/4IN X 1IN COPPER FLAT BAR 3FT	CFL141	1.00	\$65.80	\$65.80
CABLE ASY BAT POS 3-31,STUD PIERCE,JULIAN	63-1726	2.00	\$29.51	\$59.02
DEUTSCH PIN TERMINAL (CHARGE OUT)	DTPB	10.00	\$2.20	\$22.00
DEUTSCH SOCKET TERMINAL 14-16 GAUGE (CHARGE OUT)	DTSB	10.00	\$2.24	\$22.37
CABLE ASY BAT NEG 3-31,STUD PIERCE,JULIAN	63-1727	2.00	\$29.51	\$59.02
LUG STARTER/GRUOND TIN PLATED 1/2 STR	25KD62	2.00	\$10.75	\$21.51
1/2 IN RED EXPANDABLE LOOM 1/4 TO 3/4	EL500R	25.00	\$1.86	\$46.53
FIT TRIM EDGE LEG 0.520 IN L 0.390 IN W	48RM19	25.00	\$3.78	\$94.47
LUG STARTER/GROUND TIN PLATED 3/8 STUD STR	25KD70	1.00	\$13.08	\$13.08

Labor total: \$4,499.02 Parts total: \$936.32 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$5,435.34

Line # Description:

12 <u>Condition:</u> REWIRE TANK LEVEL LIGHTS GOING TO CAB

Cause:

<u>Correction:</u> RAN NEW WIRE IN FRAME RAIL UP TO WATER LEVEL MODULE -TERMINATED BOTH ENDS WITH DEUTSCH CONNECTORS TESTED LIGHTS WORKING NORMALLY -

Part description:	Part #:	Qty:	Item price:	Total price:
FREIGHT	FREIGHT	1.00	\$59.28	\$59.28
DEUTSCH SOCKET TERMINAL 14-16 GAUGE (CHARGE OUT)	DTSB	8.00	\$2.24	\$17.90
CONNECTOR, DEUTSCH 6 PIN MALE	AT04-6P	1.00	\$7.60	\$7.60
18/5 19X30BC UNSH 600V 90C GRAY JACKET	OLF601805	50.00	\$5.62	\$281.06
CONNECTOR, DEUTSCH 6 PIN FEMALE	AT06-6S	1.00	\$7.01	\$7.01
CONNECTOR, 6 PIN RECEPTACLE WEDGE	AW6P	1.00	\$0.49	\$0.49
CONNECTOR, 6 PIN SOCKET WEDGE	AW6S	1.00	\$1.20	\$1.20
DEUTSCH PIN TERMINAL (CHARGE OUT)	DTPB	8.00	\$2.20	\$17.60

Labor total: \$920.26 Parts total: \$332.86 Sublet total: \$0.00 Freight total: \$59.28 Line total: \$1,312.40



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO000028465

Line # Description:

13 <u>Condition:</u> INSPECTION - REAR GENERATOR WIRING.

Cause:

Correction: REMOVED DOOR ON BOTH SIDES AND INSPECTED WIRING. DID NOT FIND ANY FURTHER ISSUES WITH WIRING.

Part description: Part #: Qty: Item price: Total price:

Labor total: \$1,227.00 Parts total: \$0.00 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$1,227.00

Line # Description:

14 **Condition:** REMOVE AND REPLACE ABS WIRING HARNESS

Cause:

Correction: REMOVED AND REPLACED ABS SYSTEM WIRING HARNESS. CONNECTED SCAN TOOL AND RAN TEST WITH NO FURTHER

ISSUES.

Part description:Part #:Qty:Item price:Total price:HARNESS,ABS CHASSIS,FRONT64-4956-H0011.00\$193.32\$193.32FREIGHT1.00\$29.06\$29.06

Labor total: \$715.75 Parts total: \$193.32 Sublet total: \$0.00 Freight total: \$29.06 Line total: \$938.13

Line # Description:

15 <u>Condition:</u> REPLACE WABCO ABS CONTROL MODULE

Cause:

<u>Correction:</u> AFTER STARTING AND RUNNING UNIT AN ABS LIGHT WAS ON. THE UNIT WAS SCANNED AND IT WAS FOUND THE ABS MODULE IS NOT WORKING. THE HARNESS WAS DAMAGED IN THE FIRE AND POSSIBLE SHORTED THE CONTROL MODULE. REMOVED

AND REPLACED MODULE AND TESTED WITH NO FURTHER ISSUES.

Part description:Part #:Qty:Item price:Total price:FREIGHT1.00\$26.96\$26.96ECU,ABS,E4F VERSION,CHAS MOUNT J1939,4S4M,500K29144471.00\$2296.70\$2296.70

Labor total: \$1,022.50 Parts total: \$2,296.70 Sublet total: \$0.00 Freight total: \$26.96 Line total: \$3,346.16



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO000028465

Line # Description:

Condition: KUSSMAUL BATTERY CHARGER NOT WORKING AFTER FIRE. 16

Cause:

Correction: INSTALLED NEW KUSMUAL CHARGER . REWIRE INPUT WIRE AND HAD TO REWIRE DISPLAY . TESTED GOOD WAITING ON

PARTS TO WIRE UP INPUT WIRE INSTALLED JUNCTION BOX AND MADE 120 V CONNECTIONS. -

Part description: Part #: Qty: Item price: Total price: Pump Plus 1200 Charger, w/ Bar Graph Display 091-193-12 \$1255.40 \$1255.40 1.00

Labor total: \$695.30 Parts total: \$1,255.40 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$1,950.70

Description: Line #

17 **Condition:** COOLANT FLUSH

Cause:

Correction: FLUSHED OUT COOLANT SYSTEM DUE TO CONTAMINATION FROM MELTED COOLANT HOSES. FRESH WATER FLUSH X 5

DRAINED SYSTEM, FILLED SYSTEM WITH FINAL CHARGE COOLANT RAN SYSTEM TO BURP SYSTEM WILL TOP OFF WHEN COOLED OFF.

SYSTEM WORKING NORMALLY

Part description: Part #: Item price: Qty: Total price: RADIATOR CAP 10 LBS, STANT 1.00 \$11.28 \$11.28 FINAL CHARGE 50 50 52.00 \$9.87 \$513.24

Labor total: \$1,227.01 Parts total: \$524.52 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$1,751.53

Line # Description:

18 **Condition:** CHASSIS AIR LEAKS

Cause:

Correction: STARTED UNIT AND FOUND 2 AIR LEAKS. ONE AT THE GOVERNOR AND ONE AT THE TRANSFERCASE SHIFTER THAT WAS CUT TO SUPPLY AIR TO THE TRUCK WHILE TOWING. REPLACED BOTH SECTIONS OF 1/4 INCH LINE AND TESTED WITH NO FURTHER

ISSUES.

Part description: Part #: Qty: Item price: Total price:

Labor total: \$409.00 Parts total: \$0.00 Sublet total: \$0.00 Freight total: \$0.00 Line total: \$409.00



Phone: (210) 661-3913

Invoice #:	307-0000032621
PO #:	
Date:	2/28/2025

Document info: Work order #: 307-WO000028465

Line # Description:

19 Condition: REMOVE AND REPLACE GENERATOR

Cause:

<u>Correction:</u> GENERATOR SUSTAINED DAMAGED FROM BEING OVERHEATED BY THE HYD FLUID. RECOMMEND REPLACING THE

GENERATOR.

REMOVED AND REPLACED GENERATOR. FILL WITH HYD FLUID AND TEST OPERATIONS. FOUND CONTROL HEAD NOT WORKING.

INSTALLED A NEW CONTROL HEAD AND FIXED WIRING. TESTED WITH NO FURTHER ISSUES.

Part description: Part #: Otv: Item price: Total price: CIRCUIT BREAKER CB6339 \$18.76 2.00 \$9.38 HYDRAULIC GENERATOR, 6KW HU06.0MCR-16R 1.00 \$9209.20 \$9209.20 **FREIGHT FREIGHT** 1.00 \$229.05 \$229.05 12 24 VDC DIGITAL METER KIT SINGLE PHASE HPMR800-1224 1.00 \$1366.53 \$1366.53

Labor total: \$2,454.01 Parts total: \$10,594.49 Sublet total: \$0.00 Freight total: \$229.05 Line total: \$13,277.55

Line # Description:

20 <u>Condition:</u> REPLACE UNDERCAB INSULATION.

Cause:

<u>Correction:</u> STARTED TO REMOVE UNDER CAB INSULATION STARTED TO CLEAN OFF GLUE REMOVED GLUE AND PAINT FROM OFFICER WHEEL WE'LL. STARTED TO INSTALL UNDERCARRIAGE INSULATION CLEANED OFF REMAINING GLUE INSTALLED ALL UNDER CAB INSTALLATION AND TAPED ALL SEAMS REINSTALLED HEAT SHIELD PAINTED FENDER WELLS. FINISHED UNDER CAB INSULATION.

INSTALLED NEW UNDER CAB WORK LIGHTS

Part description: Part #: Qty: Item price: Total price: ADHESIVE REMOVER 1 GALLON REFILL AR21 2.00 \$144.48 \$288.96 LIGHT,TRUCK-LITE,#40227 4" CLR,2 WIRE,W/GROMMET \$63.13 1062681 2.00 \$31.57 **FREIGHT** \$17.12 **FRFIGHT** 1.00 \$17.12

Labor total: \$3,067.52 Parts total: \$352.09 Sublet total: \$0.00 Freight total: \$17.12 Line total: \$3,436.73



Phone: (210) 661-3913

Invoice #:	307-0000032621	
PO #:		
Date:	2/28/2025	

Labor total	: \$2,045.03	Parts total: \$0.00	Sublet total: \$0.00	Freight total: \$0.00	Line total: \$2,045.0
Part descrip	WITH REPAIRS		AND VERIFY THERE ARE NO ISSU Part #:	JES. COMPLETED FULL OPERA Qty:	TIONS TEST. NO ISSUES FOUND Item price: Total price:
Line # 21		LL OPERATION TEST			
<u>Document</u> <u>i</u>	i <u>nfo:</u> Work order	#: 307-WO000028465			

Total of All Services

Labor total	\$28,213.00	Shop supplies	\$250.00
Parts total	\$27,974.49	Sublet total	\$4,149.84
Freight total	\$794.25	Sales tax	\$0.00

Page 9 of 9 Disclaimer Invoice total: \$61,381.58